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PART — A / YAI—%& Marks / 3% : 40

Note : Attempt all the twenty questions. Each question carries 2 marks. Answer should
not exceed I3 words.

q@ - a7 0 Y % TUX AR WA® 9T ¥ fWd : ofm Preifa ¥ owww 9« gl

¥ afys T @ =Rl

1 Give full form of following :

fpafafga o k35! R a"]ﬁm :
RISC
CISC

2 What are main disadvantages of relative addressing ?

farfra wdfim & qer whel wn ¥ 7

3  What is. differences between Virtual and Physical address ?

vl ud Hifve B H sl WE Hgl
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4 What is the operation performed by RRC in 8085 nucroprocessor ?

8085 sl WEER ¥ RRC % & @ fpar e wmd & 2

5 Why do we need DMA ?
DMA & & & sayadd & 7

6 What is the function of accumulator CPU register ?

TR dfy e F w1 w®¥ 7
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7 - What is usc of cache ?

FoT HT IUMT E T 7

38 How is pipeline processing useful ?

gyaRT WAk &E swEet &7

9  What are the basic tasks in business data processing ?

fyemiw s ARl W T ed w7

10- 11 5
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10 What is index sequential file ?

oo rmfoge wew 7 &7

11 What do you understand by weak entity set ?

FHAER Qe ¥ ¥ oMY @ gueid & 7

12 What does the following expression mean
Sx=4 (T)
o @ (cRais) ®o9 Q@ w9 daeg ¢

ox=4(T)
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13 What is referential integrity ?

Teifame R w1 OB § P

14 Wwirite the expansion of QBE. Where do we need it ?
QBE & e fre | seaft sexa @l w wedl ¥ 2

15 Why do we normalize a data base ?

ST 99 W w wiEs e e v o7
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16 What is interpolation ?
Interpolation ¥ o awead ¥ ?

17  What is scalar matrix ? Draw a 3%3 scalar matrix.

sy Bfvwm 7 % 7 3x3 @ oew AREW =R

18 What do you mean by relative error 7

fafs o & w0 T ¥ 7
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19 What value remain on the stack after following sequence of instructions ?

Preffad SEa™ & ®H & U e N R AW g 7
PUSH # 4

PUSH # 7

PUSH # 8

ADD

PUSH # 10

SUB

MUL

20 Give the Range of n-bit fixed point numbers.
nfie feres wgg den (E e & W (G afsad
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PART - B / ywm—a Marks / 3% : 60

.Note : Attempt alt the twelve questions. Each question carries 5 marks. Answer should
not exceed 30 words

e waqHsﬁ‘rﬁsaﬂ?éﬁﬁﬁlmmﬂﬁiqwﬁaﬁﬁ%lwwsﬁ%
CIRC I R R Fa

21 List instruction addressing modes.

TEHT GST & v & Sagd |

22 Explain working of Latch briefly.
Latch & wrifafy d@e & wwsmd)
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23 Differentiate between hardwired control and micro programmed control.
A HRid Ud WEH WS oM § ol W Hig
24

Explain in brief the 'handshaking transfer'.

FefhT Tiwe & dfa ¥ = e
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25

Write advantages and disadvantages of Associative memory.

Associative TTD @ wi wd whTEl Tord

26 List functions of data base administrator.

T 39 weitm & o Wiau
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27

Explain the charactenistics of business information.

i gaa & O B YRRy |

28 What do you mean by inverted file organisation ?

TS WIS SITIRSISE W oMU # arad § 7
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29  Conslruct a table of forward diflerences for given data

o T T & faw wrad Re@g @ el TRy

10

0

30

40

1.0

] e

0

4.4

7.9

30 What do you mean by the symbols A A? ?

AAY P & e wnoawed ¥ 7
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31 Find the value of L — using Simpson's 3 Rule, #=05.

dely
s Rifn @ [, — @ am aw #, 4=05.

2 x

UJ!-—

32

Write the Lagfange's Formula for interpolation, for unequal intervals.

EM AR & (WY OIS Sediay wBIeger iy
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PART - C / 9—4 Marks / 3% : 100

Aftempt any 3 questions. Each_question carties 20 marks. Answer should not exceed
200 words.
% o« yeT AR TEE T ¥ R e o Fuild ¥ W Ree =i g

At TE I AR

Design a 4 bit carry look ahead adder.

4 bit carry look ahead adder T&TET W
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34 Consider the following reference string
2321524532512
If paging system has capacity of three pages then compare several page replacement
policies. |
ﬁ%%ﬁaﬁ%ﬁﬁﬁ%ﬁwmﬁﬁwml
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35 (a)

(b)

Draw the ER Diagram for the following database :

frtaflag /@S9 &1 ER Diagram &A™

Teacher (T _id, T_name, C_id)

Class (C id, T id, Stream, Room_No, Subject)

Student (S_id, C_id, Sex, Year_of_Add}

A teacher is given more than one class and a class can have more than 10 students.
T id, C id, §_id are teacher, class and student identification numbers, Year of Add
is year of admission.

Q%Teacherﬁlq?ﬁﬁmClassﬂ@ﬁﬂﬁﬁﬂﬁ’f%ﬁﬁ‘(@()lassff 10 &
e = & gy 1 T d, Cid, S_id A, @ of frendl % wwam v
%1 Year of Add waer & T
In SQL write the solution to the following :
SQU A ffufea @1 #@ fod -
(i)  Using subquery / el @ IEEW B
Write the names of the teachers leaching the subject Computer Science to
science classes. '

o7 G9 SETET 61 U T St BF ey wdd v ST el w0 9er
¥ Reart wdm o g ¥
(i)  Write the S_id, C_id of the students whose year of admission is 2012.

o §9 Prenlhl @ S_id ik ¢ id f@ R wawm = 2012 7
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36 Explain the mechanism of read-out and write-in n a CD-ROM with diagram.

CD—ROMﬁ@IW@G@Wﬂ%ﬂHWQﬁ%ﬂEﬁHWﬁI
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37 Inapartially destroyed records
legible .

of an analysis of correlation data, the following results only are

Wwﬁm%ﬁsﬁw%aﬁmwﬁﬁéﬁﬁmﬁﬁﬁmw%:
Variance of x 18 9, Regression equations

Sy ~10y+66=0 and 40x—18y =214

¢ @ AR 9 %, Poyw wiwe

8x—10y+66=0 ud 40x-18y =214

Then find : ST WY

(a) The mean value of x and ¥

T y 2 AT A

(b) The siandard deviation of y.

y o Russ SfaaFl

{c) TThe coefficient of correlation between x and ).

xUd & e T R R T |
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38 (a) Solve using Gauss-Elimination method :
e ity fata & osw &l
2y+y+4z=12
Sx—3p+2:=27
4x+11y—z=-3
(b) Explain Flase position method.
wra deiee fafd @ e
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39 (a) Solve the equation, using Runge-Kutta method -
FWHT ® ' Runge-Kutta iy & e -
dy 1
& x+y
h=05
y{0)=1.
(b) Write Gauss-Siedal method.
Gauss-Siedal fafa o
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